N

ol zZ

=

@ 5em

3

=

|2H2t e

[S]

o

—

A

BC oA /B = 90°, AC = 15cm, BC = 12cm ¥

9

@ 6cm

® 7cm

@ 8cm

® 9cm

o,



th& 1ol A BC 9 Zol=?




3. H=1d =90°
o oA £C =90° 7} H7] $]gt x o] FHe 5}

@

) ®1 @

[OVRI N
| ot




2

T
74,

T
74,
A

op
T

@ 1.6 ® 2 @ 24 ® 28

D 1.2



t}-& 19 mABCD oA AD” + BC- 9] %

29

A
I
I
\
\

on @ 30 ® 41 8
@ 56 ® 61




o

713 ABCOA Ae 717}

o2 ¥ /A =90°<2 Azt 3
2 ol= AAH Y-S O™ Aotk x 9] 3h2?
I —
D z,
yH
E{36cm?
B C
100cm?
F G
@ 6cm ® Tcm @ 8cm ® 9cm

@ 5cm



o2 2383} o] /B =90°, AB = 4cm ¢ H 242 ABC 9 7
g A502 o= Al ¥helS I3t BC € A522 sh= dhgle
Hol7F 10rem? & o, MA3t BE O] Yol & Lafo]a},




The 1389 gABCD o4 tiZH4 AC £ BD = A& A wstal 9
Mo wyde H2t st 2 AH=2,BH =3,CD =5 ¥ 0,
AD? 4+ BC? 9 3= Fstolet

D

\

A \

S—-—_wu--




9. o 1"} Zo] LOAB = 60° ¢l
OAB 9JA AB = 107 € w], AB 9]
T5todat,




10.

o2 I3} ol
o] AC=BCY
¥ ABC7F itk A(=3, 0),

B(3, 0), C(0, )Y W, AAB

o] ¢ Zolg Al

B

ol
rE
et
5ol

pal

=
w

o]

%q

C



11. & 2894 gABDEE g H o] Zol7} ¢
ol JArzZtgoltt. the H7|o A &) &2

—

R 1o
e BF =2t
D
(1]
H7]
@ AABC = ABDF © CH=a+b
_ 1
© oFGHCE= AAHY ® AABC = ZDABDE
@ a?+b* =2 ® CH=a-b

D S
=%
> L

=%



12. & I A/BAC =90° 0], ABS AC & 2|20 2 5}

WOl 247 P, Qe B 1, P+ Q o & Tatolet




13. o2 2™3 Zo] /B = 90° 9l A ZAH A
N

ABC o HIH ACE 5 H AL C 7 EAA !

L= oS o], ACDE ¢ E89] dol=? {

!
le \
13 15 17
©) @ — ® — |
2 2 2 .
_ \
Of ® 3 Bl \



AAB

C
e AL

D a2 > b2+ 2 o]™ /A > 90° o]t}

@ a-b<c<a+b

® ¢* > a? +b? ol EZHZ g ol

AN BC=a,CA=0b,AB =c 21
o



15.

E E «
IR &9 dol7t 4 em Q1 7]
59 A AclA E&ote]
o

72wt g B Tk &

e2x Oyw go] TR
=
=

i

At Zremd W, 97159 Eol8 TS,



